
for (size_t i = begin; i < end; ++i) {
partial_x += x(i) * x(i);

}
<latexit sha1_base64="FFUaXVBAk3S/DknWt6+3VeBy0Xs="></latexit><latexit sha1_base64="FFUaXVBAk3S/DknWt6+3VeBy0Xs="></latexit><latexit sha1_base64="FFUaXVBAk3S/DknWt6+3VeBy0Xs="></latexit><latexit sha1_base64="FFUaXVBAk3S/DknWt6+3VeBy0Xs="></latexit>

for (size_t i = begin; i < end; ++i) {
partial_x += x(i) * x(i);

}
<latexit sha1_base64="FFUaXVBAk3S/DknWt6+3VeBy0Xs="></latexit><latexit sha1_base64="FFUaXVBAk3S/DknWt6+3VeBy0Xs="></latexit><latexit sha1_base64="FFUaXVBAk3S/DknWt6+3VeBy0Xs="></latexit><latexit sha1_base64="FFUaXVBAk3S/DknWt6+3VeBy0Xs="></latexit>

Task 0

Task 1

Vector x
<latexit sha1_base64="rs36+nTt2B8RXsDxDn0e9PMCIFI="></latexit><latexit sha1_base64="rs36+nTt2B8RXsDxDn0e9PMCIFI="></latexit><latexit sha1_base64="rs36+nTt2B8RXsDxDn0e9PMCIFI="></latexit><latexit sha1_base64="rs36+nTt2B8RXsDxDn0e9PMCIFI="></latexit>

0
<latexit sha1_base64="VB2UwhS8trRka2Y+7U6bZn315l8="></latexit><latexit sha1_base64="VB2UwhS8trRka2Y+7U6bZn315l8="></latexit><latexit sha1_base64="VB2UwhS8trRka2Y+7U6bZn315l8="></latexit><latexit sha1_base64="VB2UwhS8trRka2Y+7U6bZn315l8="></latexit>

num_rows_
<latexit sha1_base64="KNKH2sgMwDbDMxBzBbmRlLm8bhc="></latexit><latexit sha1_base64="KNKH2sgMwDbDMxBzBbmRlLm8bhc="></latexit><latexit sha1_base64="KNKH2sgMwDbDMxBzBbmRlLm8bhc="></latexit><latexit sha1_base64="KNKH2sgMwDbDMxBzBbmRlLm8bhc="></latexit>

num_rows_ / 2
<latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit><latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit><latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit><latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit>

num_rows_
<latexit sha1_base64="KNKH2sgMwDbDMxBzBbmRlLm8bhc="></latexit><latexit sha1_base64="KNKH2sgMwDbDMxBzBbmRlLm8bhc="></latexit><latexit sha1_base64="KNKH2sgMwDbDMxBzBbmRlLm8bhc="></latexit><latexit sha1_base64="KNKH2sgMwDbDMxBzBbmRlLm8bhc="></latexit>

0
<latexit sha1_base64="VB2UwhS8trRka2Y+7U6bZn315l8="></latexit><latexit sha1_base64="VB2UwhS8trRka2Y+7U6bZn315l8="></latexit><latexit sha1_base64="VB2UwhS8trRka2Y+7U6bZn315l8="></latexit><latexit sha1_base64="VB2UwhS8trRka2Y+7U6bZn315l8="></latexit>

num_rows_ / 2
<latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit><latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit><latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit><latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit>

num_rows_ / 2
<latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit><latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit><latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit><latexit sha1_base64="8UJmMSegDt6hiAAXpnIm55tRNUU="></latexit>


